Research hypothesis



Research hypothesis

1. Basic form
H: Hypothesis
H_: Null hypothesis, the statement which is contrary to the hypothesis

2. Level of significance
0.05 (5%), 0.01 (1%)

3. Level of confidence
0.95 (95%), 0.99 (99%)



Hypothesis

Two-tail Hypothesis One-tail Hypothesis
Level of significance 5% H: fE<=165
> 0.05 Hn'.ll’l> 165

>
0.05

\
H: il =165 \ y;
H @ 1L Z 165 Critical region

H: 1l >=165

H: <165



Example of Hypotheses

Two-tail Hypothesis
Question: Do fresh graduates receive an average salary of 15,000 baht?
H: 1t = 15,000
H: 715000

One-tail Hypothesis

Question: Do fresh graduates receive an average salary greater than 15,000 baht?
H: 1 < 15,000
H U > 15,000




Mean comparison



Data analysis

|

sex education : temperature salary :

ordered v : v v i

frequency v v oY v

Mode v v : v v :

Median v : v v :
rMean

calculation




Z = <+>

Mean comparison

One sample test He = 165

compare a mean with a standard value  H, : [l #165

Independent samples test
H: [l = 2

compare means between two independent groups H - il # 2

Paired sample test H i = 12

compare two means of a sample group H,: [l # L2

ANOVA (Analysis of variance) Hput =2 =ps....
Ho: 1 #Z 2 Z ...
compare means between three or more independent groups




One sample test

compare a mean with a standard value

Example:

1. Question: Are Thai men's average-height equal to 165 cm?
H: i =165
H : d#165

2. Question: Are Thai men's average-height greater than 165 cm?
H: U <165
H : >165

3. Question: Are Thai men's average-height less than 165 cm?
H: U =165
H - <165



One sample test

compare a mean with a standard value

Question: Are Thai men's average-height equal to 165 cm?

H: JL =165
H : Jl #165
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One sample test

SPSS

o
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1. Set variables

® Sex

® Height
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One sample test

SPSS

3. Click Analyze > Compare Means > One-Sample T Test
Then select Height as a Test Variable
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One sample test

SPSS

4. Click Options...
Set Confidence Interval Percentage 95%

click Continue

@ Cne-Sample T Test

TestVariable(s):

£ anuga [Height]
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One sample test

SPSS

5. Define Test Value 165
click OK
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T-TEST
JTESTVAL=165

/MISSING=ANALYSIS
/VARRIABLES=Height
/CRITERIA=CI (.95).

=% T-Test

Results

[DataSetl] C:\Users\Administrator\Documentsi=slidel-testData.sav

One-Sample Statistics

= == = = e e e = -

| Std. Errar
| M Mean | Std. Deviation | _ Mean
|| ATHE 10 | 164.3000 262674 b 83066
S O S S IS IS S e e e e s
One-Sample Test
TestWalue =165
95% Confidence Interval of the
Mean Difference
1 df Sig. (2-tailed) Difference Lower Lpper
ATIHE -.843 g A2 - 70000 -2 57491 11791




Results

-
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/’ N
( T-TEST \
\ fTESTVAL=1e5
~
TMESSIHNG=MNALYSIS
/VARIABLES=Height
/CRITERIA=CI(.95).

Test value =

H: [ =165 165

[DataSetl] C:\Users\ARdministrator\Documents'=lidel-testData.=sav

significance level = 0.05
One-Sample Statistics

Std. Error Sig (2-tailed) = 0.421
M Mean Std. Deviation Mean == Less than 0.05
AT 10 | 164.3000 2626749 B3066 >>>> Reject H >>Accept Hn (significant)

One-Sample Test

TestValue =1
PR RS < 95% Confidence Interval of the
Mean Difference
1 df I Sig. (2-tailed) I;\ifference Lower Lpper
AT -.843 9 N 421 /' -.7oooo -2.5791 1.1781

N__’




conclusion

Hypotheses:
H: i =165
H : #165

Sig (2-tailed) = 0.421 that is greater than 0.05
Therefore, accept H: ll =165

Thai men's average-height is equal to 165 cm
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